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Starter
Mild - complete questions 1-4 and 11-14
Double each of the following numbers: Find half of the following numbers:
1) 780= 2) 290 =
- 11) 880 = 12) 450= ______
3) 2480= _____ 4) 3840= __ 13) 2150 = 14) 7670 =
) 32630 __ L S 15) 3560 = 16) 165 =
7)275= 8)972=___ 17) 7.68 = 18) 1572 =

9) 685= 10) 592= 19) 15=___ 20) 7.38=___
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LO: Reason about graphs.
Success Criteria:

1. Read the question carefully twice.
2. Decide what calculation it needs
3. Remember to explain WHY in your answer

Model ES—— : ‘ o
- Reasoning 1

Kate says, '

There were 20 more votes
for consoles than phones.

Laptop

Console
Tablet

Phone

0 20 40 460 80 100120

Is she correct? Convince me.

Kate is not comrect because there were 90 votes for consoles and 80
votes for phones, so there were 10 more votes for consoles than
phones.
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1a. Georgia says,
‘ﬁ, There are 10 more
."_,". ducks than squirrels.
Al

Animals at the Park

Swans :
Ducks
Dogs [ |
Squirrels:|

0 2 4 & 8 10 12
ﬁ Is she comect? Convince me.

1b. Frankie says,

” There are 5 more votes

.? for sci-fi than mystery.

Favourite Type of Book

Comedy |
Sci-Fi |

Fantasy |

Mystery I

0 2 4 & 8 10 12
ﬁ Is he correct? Convince me.
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3a. Fillin the missing data.

More children travel by car than bike but
fewer children go in the car than walk.

Method of Transport to School

Two more children fravel by bus than car.

3b. Fillin the missing data.

There are more Fords than Nissans but
fewer Fords than Vauxhalls.

There is 1 more Kia than Nissans.

Make of Cars in the School Car Park

2a. Circle the odd one out of A, Band C.

2b. Circle the odd one out of A, B and C.

Day Houses Sold Birds in the Garden | Number Counted
Friday 2 Robin 1
Saturday [ Pigeon [
Sunday 5 Magpie 3
Monday 1 Sparrow 5

A. Ten houses were sold altogether.
B. Most of the houses were sold on the

Saturday.

C. 1 house was sold on Monday.

{5}' Explain your reasoning.

A.The most common bird in the garden

was the robin.

B. There were 15 birds altogether.
C. The robin was the least common bird.

ﬁﬁ' Explain your reasoning.

© O dq
¢

Walk Car Bike Bus

Ford Vauxhall Nissan Kia

ﬁ () =2 votes

ﬁ? O =2cars
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LO: Reason about graphs.
Success Criteria:

1. Read the question carefully twice.
2. Decide what calculation it needs
3. Remember to explain WHY in your answer

Model:
— -~ -
i
semeniel Circle the odd one out of A, B and C.
Rate says, ' i Favourite Treats Votes
There were 20 more votes 3 Chocolate 80
@ for consoles than phones. : Sweets 40
xisz | i Biscuits 30
's Favourite Gadgets
Crisps 90
Laptop |
Console | A. 250 people voted for their favourite treats.
Tablet | B. Crisps received the highest number of votes.
Phone | C. 60 people voted for sweets.
0 20 40 40 80 100120
Is she correct? Convince me. Explain your reasoning.
Kate is not comrect because there were 90 votes for consoles and 80 % 15 the odd b itis i t 260 | ted §
votes for phones, so there were 10 more votes for consoles than 's‘, a0 : One DI RECAUEE 6.1 INEONBCT, PEOPIa Waged 108
phones. their favourite treats. Y4
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Task 1-Mild Task 2 - Spicy Task 3- Red Hot
a The graph shows the number of cars sold
& —a . 7a. Sasah says. by two different companies.
* There are 20 more w 10 fewer people walk Y o B B
- porsnips than leaks. : over ¥km a day than ss00_l - Ace Motors - Briggs
- - between § and Thm. 3.000—| .
Number of Vepedoble s in an Alcément Digdance Walked Foch Day 3 2500— o \‘\
» 2000— P T A
Camots [ ] <skm | ] 8ol e TN
Parsnips | 5 — Tkm ] 1,000 — e Ty g~
S00—
Leaks ] 7 - ¥km | °— i T A
lan @ ar pr ay
Clons | Flem + | Month
0 20 40 40 B0 100 120 0 15 30 * How many more cars did Ace Motors
< lsshe comect? Comvince me. Is she comect? Comdnce me. sell than Briggs in April?
— = From January to March, how many cars
§a. Circle the odd one out of &, B and C. Ba. Circle the odd one out of A, B and C. did each company sell? Who sold
Dislonce lo School |Mewber of Chlldran Tuck Shop Snochks Number Sold more? How many more did they sell?
0 - Tk 0 Bread Sficks T A « Crooks Motors sold 250 more cars
1 — Zem .1 Roisins ] than Briggs each month.
F _ Tern 10 Crockers = oarn Plot Crooks Motors' sales on the graph.
Population growth
3 - dlem 10 Fruit Pot Lk w0 i
A The dala shows the distance o school M. 50 snocks were sold of the tuck shop 90— p au
for 100 chil dren. altog ether, 3 80— &
B. Most of the children live 0 — T away . B. Crockers were the least popular snack. § 70 a
C. &0 children live 1 - 2 km away. . Breod sticks were the most pop ulor g 60 =
) snach. £ 50— =
s Explain your reasoning. Explain your reasoning. 2 :E: LT
4&a. Al in the missing dato. #a. Fill in the missing data. Bt
10 —
There were fewer votes for Animals than There were fewer v otes for winter than o—+————————1
Roinforests but more voles thon Romans. spring. but more for winter than autumn. 1975 1980 1985 1990 1995 2000 2005 2010 2015
There were 10 fewer voltes for Explorers There were 225 votes for summer and o
than Romans. autumn allogether. Wh h lati in1 o
veaor 4's Favourite 'ﬂF*: Eavourite 5 o T W © - at was the popu ation in 1985%
- - How much did the population
- _ﬁ - grow between 1990 and 20107
Romans | Explorers |Roinforests | Animols Speing | Summer | Aulumn Whnde s When was the population double
. T = 10 woles = 50 vola the population of 19857
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